Chapter 14 – Practice Questions



1.
At an annual interest rate of 10 percent, about how many years will it take $100 to double in value?

a.
5

b.
7

c.
9

d.
11


2.
If you put $300 into an account paying 2 percent interest, what will be the value of this account in two years?

a.
$310

b.
$312

c.
$312.12

d.
$314.24


3.
You’ve been promised a payment of $400 in the future. In which case is the present value of this payment highest?

a.
you wait 3 years and the interest rate is 6%

b.
you wait 3 years and the interest rate is 5%

c.
you wait 2 years and the interest rate is 6%

d.
you wait 2 years and the interest rate is 5%


4.
The present value of a payment to be made in the future falls as

a.
the interest rate rises and the time until the payment is made increases.

b.
the interest rate rises and the time until the payment is made decreases.

c.
the interest rate falls and the time until the payment is made increases.

d.
the interest rate falls and the time until the payment is made decreases.


5.
Which of the following games might a risk-averse person be willing to play?

a.
A game where she has a 50 percent chance of winning $1 and a 50 percent chance of losing $1.

b.
A game where she has a 60 percent chance of winning $1 and a 40 percent chance of losing $1.

c.
Both A and B.

d.
Neither A nor B


6.
Which of the following best illustrates adverse selection?

a.
A person adds risky stock to their portfolio.

b.
A person who has narrowly avoided many accidents applies for automobile insurance.

c.
A person is unwilling to buy a stock when she believes its price has an equal chance of rising or falling $10.

d.
A person gets homeowners insurance and then checks their smoke detector batteries less frequently.


7.
Sally buys health insurance because she knows that she has health risks that wouldn’t be obvious to an insurance company. Edward buys home owners insurance and then is less careful to make sure he’s put out his cigarettes. The example with Sally 

a.
and the example with Edward illustrate adverse selection.

b.
and the example with Sally illustrate moral hazard.

c.
best illustrates adverse selection, the example with Edward best illustrates moral hazard.

d.
best illustrates moral hazard, the example with Edward best illustrates adverse selection.


8.
Which of the following best illustrates moral hazard?

a.
After a person obtains life insurance, she takes up skydiving.

b.
A person obtains insurance knowing he is in poor health.

c.
A person holds stock only in very risky corporations.

d.
A person holds stocks from only a few corporations.


9.   Diversification reduces

a.
only market risk.

b.
only firm-specific risk.

c.
neither market or firm-specific risk.

d.
both market and firm-specific risk.


10.
Fundamental analysis shows that stock in FaceIt! Cosmetics Corporation has a present value that is higher than its price.

a.
This stock is overvalued; you should consider adding it to your portfolio.

b.
This stock is overvalued; you shouldn't consider adding it to your portfolio.

c.
This stock is undervalued; you should consider adding it to your portfolio.

d.
This stock is undervalued; you shouldn't consider adding it to your portfolio.


11.
Some people claim that stocks follow a random walk. What does this mean?

a.
The price of stock one day is about what it was on the previous day.

b.
Changes in stock prices cannot be predicted from available information.

c.
Stock prices are not determined by market fundamentals such as supply and demand.

d.
Prices of stocks of different firms in the same industry show no or little tendency to move together.

ANSWERS:

1=B, 2=C, 3=D, 4=A, 5=B, 6=B, 7=C, 8=A, 9=B, 10=C, 11=B

